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Berynne BumpoOyBaHHS 3 1HO3€MHHUX MOB [0 acCHipaHTypU Ma€ Ha memi
BU3HAUUTH PIBEHb MIJTOTOBKMA BCTYMHHUKIB 3 JIaHOI IUCIMIUIIHK 3 OIJISAYy Ha
aKTyaJIbHICTh 1HTETpallii OCBITHbOI CUCTEMH YKpaiHU B €BPONEUCHKUI Ta CBITOBUI
OCBITHIM MpOCTip ¥ HaraJbHy MOTpeOy B MiJABUIIEHHI PiBHS 3HaHb U HABUYOK
aKTUBHOI poOOTH 3 MIXKHAPOJHUMU 0a3aMu HAyKOBOI 1H(OpMaIii.

Ha BcrynmHoMy BunpoOyBaHHI /10 acHipaHTypd BCTYINHUKH TIOBHHHI
MPOJEMOHCTPYBAaTU BUCOKUN piBEHb C(HOPMOBAHOCTI (PYHKIIIOHAIBHOI, MOBHOI Ta
MOBJICHHEBOT KOMIIETEHTHOCTEH.

Ho ¢yukyionanvnoi kKomnemenmuocmi NOJTy4alOTb BMIHHS YUTaTH HAyKOBI
TeKCTHU (NepIIoKepesa), aHOTyBaTh Ta pedepyBaTH iX; CIyXaTu Ta KOHCIIEKTYBaTH
JIEKIIii; TOTYBaTH Ta MPOBOJAUTH MPE3CHTAIIIl Ta CEMIHAPH.

Moena KOMNemeHmHicmy nependavae BOJIOIHHS KaH/IUJIATOM
ophorpadiuarmu, opPoemuHUMH, TCKCUIHUMHU, POHETUUHUMHU, TPAMAaTUYHUMHU Ta
CTHJIICTUMHUMH HOPMaMH Cy4acHOI 1HO3€MHOI MOBHU.

Moenennesa komnemeHmuicms OXOILTIOE PEIIENTUBHI Ta TPOTYKTUBHI BMIHHS.
Jlo perenTUBHUX yMiHb HAJIC)KATh ayTIFOBAHHS Ta YATAHHS:
Ayoitoeanns:

® PO3yMITH 3allUTaHHS €K3aMEHATOPIB;
® PO3YMITH KOPOTKI BUCJIOBJICHHS 1 KOMEHTapi €K3aMEHATOPIB.
HYumanns:

® BMIHHA YWTaTH W PO3YyMITH TEKCTH 3araJlbHOHAyKOBOTO Ta MpodeciitHo
OpIEHTOBAHOTO XapaKTepy;
® BOJIOAITA BCiMa BHJAaMU YHUTaHHA (O3HAMOMIIIOBAJIbBHUM, BHBYAIOYUM,
MEPETIISIOBUM 1 TIOIITYKOBUM);
¢ poOWTH BHCHOBKM W YMOBHMBOJU, KOPUCTYIOUHCHh OTPUMAHOIO Yy MPOIIEC]
YuTaHHs 1H(OpMaIIi€lo.
Jlo mpOIYyKTHBHI yMiHb, SIKI TIEPEBIPAIOTh Y XOJA1 €K3aMeHY, HajleXaThb MUChMO 1
MepeKIa.

Ilucomo:

e BMITH peayi3yBaTH Ha MHChbMI KOMYHIKATHBHI HaMIipH: MHCATH 3pPO3yMiJi,
JeTajdbHl TEKCTH Ha P 3HAMOMHX TeM Y MeEKax CBO€I cepu 1HTEpeciB,
y3arajbHIOIOUHY i OIIHIOIYH 1H(OPMAIIi0 Ta apTyMEHTH 3 MEBHOI KITBKOCTI
TOKEper;

® [MKCATU 4YITKi, JETaJbHI OMUCH JIHCHUX ab0 YSABHUX TMOAIM YU BpPAKEHb,
BUIUIAIOUM 3B'SI3KM MDK JyMKaMH Yy BHIUISI YiTKOIO 3BS3HOTO TEKCTY i



JOTPUMYIOUUCH TPUIHATHX YMOBHOCTEH BIIIOBITHOTO JKaHPY;
® THCaTH TBIpP 3 MOCIIJOBHO PO3TOPHYTOIO apryMEHTAII€I0, HAJIC)KHUM YUHOM
M1IKPECIIOI0UN 3HAYYII TYMKH,
® TNPOAYKyBATH 4iTKE, 3MICTOBHE, 00 €MHE IIMCEMHE MOBJECHHA 3 HAJICKHUIM
TMIOCJTIIOBHUM ITJTaHYBaHHSIM Ta PO30MBKOIO HA a03ally;
e [IHCATH aHOTAIIl;
e [IMCaTH Te3U/ JOIOBII;
® BOJIOJAITH MpaBuyiaMu opdorpadii Ta MyHKTYaIlii.
llepeknao:
® TIpaIfOBaTH 3 JBOMOBHUM Ta OJJTHOMOBHUM CJIOBHHKOM;
e BHOpaTH 3 TBOMOBHOT'O CJIOBHUKA BIJMOBIIHI YKpaTHChKI 00 1HIIIOMOBHI
€KBIBAJICHTH.
3rigHo 3aranbHoeBponeiicbkux Pekomenaaniit Pagu €Bponu 3 nUTaHb OCBITH pPiBEHb
BOJIOJIIHHS 1HO3EMHOIO MOBOIO BCTYITHHMKIB Ma€ BiinoBigaTu pisHio B2-Cl.

CTPYKTYPA BUIIPOEYBAHHS TA KPUTEPII OIIIHIOBAHHS

BerynHuii  ek3amMeH 10 acmipaHTypd JUIS  BHUITYCKHUKIB  HE(1I0JOTTYHUX
CrieliaIbHOCTEN BI0YBA€ThCA y (POPMiI KOMILJIEKCHOTO MHUCBMOBOTO TECTY, KU
CKJIAIa€ThCS 3 JBOX YAaCTUH 1 MICTUTh HU3KY 3aBllaHb PI3HUX PIBHIB CKJIAIHOCTI,
HAI[UICHUX Ha TepeBIpKy piBHA C(HOPMOBAHOCTI MOBJICHHEBOI Ta MOBHOI
KOMIIETEHTHOCTEM.

Yacruna I MoBJIeHHEBA KOMIIETEHTHICTbD.

baok 1. Untanus. TecToBl 3aBmaHHsA, IO TPOMOHYIOTHCS KaHIWATaM,
CHpsSMOBaH1 Ha MEPeBipPKy PiBHSA CPOPMOBAHOCTI KOMIIETEHTHOCTI B UNTaHHI, a came:
JeTalbHE PO3YMIHHS 3MICTy MPOYUTAHOTO, BMIHHS BCTAHOBJIIOBATH 3HAYCHHS
JIEKCUKO-TpaMaTUYHUX OJWHHULIb HA OCHOBI KOHTEKCTY, 3HaHHs 3ac001B oprasizarii
auckypcey. Kinpkicts 3aBaanb — 2.

Tecmoge 3a60anns 1. Kanaunatu MaroTh npountatu Teket odcsrom 1000-1200
OJIMHUIIb 1 BU3HAYUTH, K1 3 HABEJACHHUX INICIS TEKCTY PEUYCHb BIAMOBIIAE 3MICTY
npountanoro. Kinbkicte peuens — 5. KoxkHa npaBuiibHa BIAMOBIAL OIIHIOETHCS Y 2
0ann; MakcuMasibHa KUIbKICTh OamiB — 10.

Tecmose 3a60anns 2. KanauaaTu MaloTh NMPOYUTATH TEKCT 3arajibHUM 00CSITOM
710 900 crmiB 1 po3TantyBaTH y XpOHOJIOTIYHOMY TOPSIIKY PEUYEHHS, 0 CTAHOBJISTH



miaH Tekcty. Kinbkicte peders — 9. KoxxkHa mpaBuiibHa BiMOBIIb OIIHIOETHCS B 2
0aJI; MakcUMaJIbHa KIJIbKICTE OaniB — 18.

MakcumajibHa KiJIBKiCTH 6aJ1iB 32 nepuuii 010k Tecty — 28.

baok 2. Ilucbmo. 3aBnaHHs, 110 MPONOHYIOThCA KaHAMIATaM, MEPEBIPSIOTH
piBEHb BOJIOJIHHS HOPMaMH CY4aCHOT'O NMHUCEMHOIO MOBJIEHHS, 3/1aTHICTh YCIIIIHO
BUKOHYBAaTH KOMYHIKAaTHBHI 3aBJaHHA B MMCbMOBIH ¢opmi. KinbkicTs 3aBnanp — 1.

Tecmose 3a60anua 1. Kagmumatu maroTh Hanucatu ece oocsrom 150 ciis.
MakcumajibHa KUIBKiCTB 0aJ1iB 3a Apyruii 0,10k TecTy — 42.

Yacruna II MoBHA KOMIIETEHTHICTH

baok 3. Jlekcuka Tta I'pamatuka. MeToro JE€KCHUKO-TPaMaTUYHOTO TECTY €
nepeBipka piBHSI CHOPMOBAHOCTI JIEKCUYHOI Ta TPaMaTUYHOI KOMIETEHTHOCTEH Y
Mexax OakaJaBpChKOI MpOTrpaMu, a caMe 3JaTHICTh KOHCTPYIOBAaTH TpaMaTHYHO
npaBuiIbHI (HOPMH, BAKOPUCTOBYIOUH JICKCUYHI OJTMHUIII, K1 BIJMOBIAAIOTh CUTYaIlil
CHIJIKYBaHHS.

Tecmose 3asoanus 1. KanaupgaTu MaroTh 3allOBHUTH MPOIMYCKH B TEKCTI,
oOuparoud OJHY MOBHY OJIMHUII0 3 YOTHPHOX 3ampornoHoBaHUX. KigbKicTh
MPOIYIIEHUX MOBHUX oAuHUIIL — 15. KokHa mpaBuiibHA BIAMOBIAb OIIHIOETHCS B 1
0aJr; MakcUMaJIbHA KIJIBKICTE OamiB — 15.

Tecmose 3aso0anus 2. KanaupaTu MaroTh 3allOBHUTH MPOIYCKH B TEKCTI,
o0MparYu OJHY MOBHY OJIMHHUIIIO 3 1 6-T1 3apOMIOHOBAHKUX Ta BUSIBUTU TAKUM YHTHOM
3aiiBy MOBHY ojuHUIf0. KinbkicTh mpomyckiB y TekcTi — 15. KoxHa mpaBuibHa
BIZIMOBIAb OIIIHIOETHCA B 1 0aj1; MakcMMaJjbHa KUIBKICTE OaniB — 15.

MaxkcumanbHa KiibKicTh 0aJ1iB 3a TperTiii 0J10k TecTy — 30.

TecToBi 3aBHaHHS TPYHTYIOTHCS Ha TMPOQECiiHO OpIEHTOBaHMX Ta (HaxOBUX
TEKCTaxX, 0 MOXKYTb OyTH PI3HUMHU 32 CTUJIEM, )KAHPOM 1 TEMATHKOIO.

[lin 4Yac BUKOHAHHS TECTy KOPUCTYBAaTUCA OYIb-SKUMHU JIOBITHUKOBHUMHU
JUKEpENamMu, BKIIFOYAIOUX CIIOBHUKH, He 103BOJISEThCS.

Yac BUKOHaHHS TECTY — 2 TOJAMHH.

MakcuMaiibHa KijibKicTh 0aimiB 3a tect — 100.



IIKAJIA OHIHIOBAHHA

bama (%) | 90-100% | 75-89% 60-74% 31-59% 0-30%
Ominka o . ' Tect
(Bepbasbha) BIIMIHHO | 100pe | 3aJ0BUILHO | HE33JOBUIBHO | BBAXKAETHCA
' HEBUKOHAHUM

KPUTEPIH OLIIHIOBAHHS 3ABJAHHS 3 IIUCBMA (BJIOK 2)

42 - 38 6aniB — 32 yMOBH yCHIITHOTO PO3B’sI3aHHS IMOCTABICHOTO KOMYHIKaTUBHOT'O
3aBJIaHHsA, JUI IKOTO XapaKTepHEe MPOTyKyBaHH JIOT1YHO TOB’I3aHMUX 1 TpaMaTHIHO
MPaBHJILHO O(POPMIICHUX TUCEMHHUX BUCIIOBIIIOBAHb IITUPOKOTO Jliaria3oHy, 0araTcTBO

CJIOBHUKOBOI'O 3aI1acy,

BXKUTOTO BIJANOBIIHO JO KOMYHIKAaTHBHOI CHTYaIlil.

HomyckaeTbest 1-2 He3HauHl JeKkcu4Hi abo opdorpadiuHi MOMUIIKH, SKI HE
3aBaKalOTh 3arajlbHOMY PO3yMiHHIO HAIIKCAHOTO.

37 - 32 6aam — 32 YMOBH YCIIIITHOTO PO3B’SI3aHHS MOCTaBIEHOI0 KOMYHIKaTUBHOTO
3aBAaHHSA, JJIS SIKOTO XapaKTEepPHE MPOyKyBaHHS JIOTIYHO TIOB’SI3aHUX 1 TpaMaTHIHO

MPaBIWIIbHO 0()OPMIIEHUX MUCEMHUX BUCIIOBIIOBAHb IIUPOKOTO /11ana3oHy, XOPOIIUi

JUTSI TIOJIaHOT KOMYHIKAQTUBHOI CHTYallli CIIOBHUKOBHUU 3amac. Jlomyckaerbcs 1-2

HE3HAYHUX TPaMaTUYHUX MOMUJIOK, 2-3 HE3HAYHUX JIEKCUYHUX ab0 opdorpadiaamx

MTOMUJIOK, SIK1 HE 3aBa)KaIOTh 3araJIbHOMY PO3YMIHHIO HAIMKCAHOTO.

31 - 21 6ax — 3a yMOBH pO3B’sI3aHHS MTOCTABJICHOTO KOMYHIKATUBHOTO 3aBJaHHSI, JJIs

SKOTO XapaKTepHE MPOJYKYBaHHS 3B’S3HUX TpaMaTUYHO MPaBUIBLHO O(OPMIICHHX

IIMCECMHHX BUCIIOBJIIOBAHD, I[OCTaTHiﬁ CJIIOBHUKOBUU 3arac, Mo AO03BOJIA€ BUKOHATHU

KOMYyHIKaTUBHE 3aBraaHHsA. [lomyckaeThcsi BkuBaHHS 1-2 TpyOMX TrpamMaTHIHHX

NOMWIOK (4acoBl (OpMHU Ji€CIIOBA, Y3rO/DKEHHS 4aciB, Y3TOJDKEHHS MiaMmeTa 1

npucynka) Ta 3-4 JeKCUYHUX MOMUJIKH, K1 HE 3aBaYKAIOTh PO3YMIHHIO HAIMCAHOTO.

20 - 13 6aJ1iB — 32 yMOBHU YaCTKOBOTO PO3B’sI3aHHS IMMOCTABIEHOTO KOMYHIKATHBHOTO

3aBAAHHS, NJISI  SKOTO XapaKTepHI OJHOTHUITHI PEUCHHS, JEKCUYHI TOMMIIKH, SKi

CBITYaTh IIPO HEJOCTATHIM CIOBHUKOBHH 3amac, CUCTEMHI I'paMaTHU4HI ITOMHMJIKH,

3Ha4YHa KUIBKICTh opdorpad@iuHux MNOMUIIOK, IO BKYIl 3aBa)Ka€ PO3YMIHHIO

HaITmCaHoOroO.

12 - 0 6aniB — 32 yMOBH HEpPO3B’sI3aHHS [TOCTABJIIEHOTO KOMYHIKATUBHOIO 3aBAAaHHS,

JUISL  SIKOTO XapaKTepHI CUCTEMHI rpy0l JIEKCHYHI ¥ rpaMaTU4YHI TMOMWJIKH, TYyXKe

0OMEKEeHUI CIIOBHMKOBHUH 3amac, 3HauHa KUIBKICTh opdorpadiyHuX MOMUIOK, SKi

3HAYHOIO MIpOIO YCKJIQIHIOIOTh MPOIIEC CIPUUHSTTS HATKCAHOTO.




3PA3KHN TECTOBUX 3ABJIAHDb, IO BUHOCSATBCSA HA EK3AMEH
PART 1. READING
Task 1. Read the article. For questions (1-10), choose from the headings (A-K). Mind, that

there is one extra heading that you don’t need to use. Write your answers in CAPITAL
LETTERS on the separate answer sheet.

Text 1. ACID RAIN

(1) Acid rain is a rain or any other form of precipitation that is unusually acidic, meaning that it
possesses elevated levels of hydrogen ions (low pH). "Acid rain” is a mixture of wet and
deposition from the atmosphere containing higher than normal amounts of nitric and sulfuric
acids

(2) Acidrain is caused by emissions of carbon dioxide, sulfur dioxide and nitrogen oxides which
react with the water molecules in the atmosphere to produce acids. Nitrogen oxides can also
be produced naturally by lightning strikes and sulfur dioxide is produced by volcanic
eruptions. The chemicals in acid rain can cause paint to peel, corrosion of steel structures

(3) The corrosive effect of polluted, acidic city air on limestone and marble was noted in the
17th century by John Evelyn. Since the Industrial Revolution, emissions of chemicals to the
atmosphere have increased. Though acidic rain was discovered in 1852 by Robert Angus
Smith, it was not until the late 1960s that scientists began widely observing and studying the
phenomenon. The term "acid rain™ was coined in 1872 by Robert Angus Smith.

(4) Adverse effects may be indirectly related to acid rain, like the acid's effects on soil (see
above) or high concentration of gaseous precursors to acid rain. High altitude forests are
especially vulnerable as they are often surrounded by clouds and fog which are more acidic
than rain.

(5) Other plants can also be damaged by acid rain, but the effect on food crops is minimized by
the application of lime and fertilizers to replace lost nutrients. In cultivated areas, limestone
may also be added to increase the ability of the soil to keep the pH stable, but this tactic is
largely unusable in the case of wilderness lands.

(6) Ash from volcanoes in different parts of the world contains different chemical
elements. Fluorine is the most toxic to plants and animals and is in many volcano eruptions.
It attaches to the ash and travels with the wind to the farmlands around the volcano. It is
known that if livestock eat the grass covered with ash, they get gastrointestinal blockages
and die. As little as a thin layer of 1 mm of ash on grass can Kill grazing sheep or cows
Effects on quality of water Brooktrout Lake, a crystalline lake once held up as an example
of a dead lake devastated by acid rain, has now become a symbol of nature's ability to heal
itself once pollutants are curbed. The lake once teemed with trout before air pollution began
to change the chemistry of lakes and soils in the six-million-acre Adirondack Park.

(7) All living organisms are interdependent on each other. If a lower life form is killed, other
species that depended on it will also be affected. Animals and birds, like waterfowl or
beavers, which depended on the water for food sources or as a habitat, also begin to die. Due



to the effects of acid rain, animals which depended on plants for their food also begin to
suffer. Tree dwelling birds and animals also begin to languish due to loss of habitat.

(8) Mankind depends upon plants and animals for food. The economic livelihood of people who
depended on fish and other aquatic life suffers as a result. Eating fish which may have been
contaminated by mercury can cause serious health problems. In addition to loss of plant and
animal life as food sources, acid rain gets into the food we eat, the water we drink, as well
as the air we breathe.

(9) Acid rain can also damage buildings and historic monuments and statues, especially those
made of rocks, such as limestone and marble that contain large amounts of calcium
carbonate. Acids in the rain react with the calcium compounds in the stones to create
gypsum, which then flakes off CaCOs (s) + H2SO4 (agq) CaSO4 (aq) + CO2 (g) + H20 (1)

(10) The best acid rain solutions focus on power plants and coal used in the
production of energy. Technologies exist that can remove sulfur from the emissions coming
out of coal plant. Low-sulfur varieties of coal can also be used to reduce sulfur emissions.
Often, a combination of these acid rain solutions provides the best way to minimize the
problem.

Suggested Headings:

a) Cause of acid rain
b) Effects on animals and birds.
c) Acid rain solutions
d) Effects on food crops
e) Acidic form of precipitation
f) Other adverse effects
g) Citrus fruit covered with ash from Etna volcano, Italy (crop was lost)
h) Protection of statues from erosion
i) Effects on human beings
j) Effects on forests
k) History of acid rain discovery
1 2 3 4 5 6 7 8 9 10

Task 2. Read the text “USES OF GOLD IN INDUSTRY”

A) Find words in the text that mean:

1. when something allows heat or electricity to travel along or through it (verb)

2. the places where two things join (noun)

3. you can trust someone or something to do what you want them to do (adjective)

4. when you mix two or more metals together so that they combine and become a single

metal (noun)



5. pretty or attractive, but not always necessary or useful (adjective)

B) Read the text again and match the sentence beginnings 1-4 with the endings a-j (you can use

the endings more than once — 2 times).

1. Pure gold a) isan alloy.
2. Gold wire b) is in many electrical products
3. Gold in teeth c) isnot difficult to use.
4. Gold leaf d) where safety is important
5. Pure connections e) contains 62-78 % gold.
f) lasts longer than some other materials.
g) is not damaged
h) thinner than a human hair.
i) are very reliable
J) is produced by hand

Write your answers in CAPITAL LETTERS on the separate answer sheets A) and B).

A)

1 2 4 5
B)

1 2 4 5

Text 2. USES OF GOLD IN INDUSTRY

Gold is used almost everywhere from our homes to outer space. It is soft, so it is easy to use.
It conducts heat well. It lasts a long time and it is not damaged by the environment. Gold connections

are very reliable, so they are used where safety is important. In addition, gold is a popular material
in industry because of its special appearance, colour and beauty.

It is used in a wide variety of ways. The main use is in electronics — computers, pocket calculators,
washing machines, recordable CDs, cars, credit cards and spacecraft. The Columbia space shulttle,

for example, used nearly 41 kilograms of gold. Gold is the perfect material for contacts. An ordinary

telephone contains 33 gold contacts. In some electronic equipment, very fine gold wires are used to
connect different parts of the equipment. Each piece of wire is made of very pure gold (99,99%)

and thinner than a human hair.




The second most important use of gold is in teeth. However, pure gold is not used, as it is
very soft to use on its own. It is mixed with other metals to make an “alloy”. A typical alloy contains
62-78% gold.

Decorative uses of gold include jewellery (jewelry), pens and pencils, watches and glasses.
It is found in bathrooms, on plates and especially on perfume bottles. The most impressive use of
gold is gold leaf. This is an extremely thin sheet of gold. Generally, it is produced by hand and is
used by builders, glass makers and artists. It is applied to the roofs and ceilings of public buildings,
and lasts much longer than paint.

PART Il WRITING
Task 1.

Directions: You are going to give a presentation on the development of a new technology that
may revolutionise a fuel cell (non-polluting) technology.

As part of this presentation you will be referring to the information in the three statements below.
Prepare what you will say about each of the statements. You should write at least 150 words in
20 minutes.

Statement 1

Along with the hydrogen fuel cells' high efficiency (from 40-70%), the possibility of utilizing both
heat and electricity from them will make a significant contribution to reducing atmospheric
emissions.

Statement 2

A fuel cell operating at 60% efficiency would emit 35-60% less CO- at the fossil fuel stage and 80%
less from hydrogen.

Statement 3

There is considerable progress being made, and governments and organisations are beginning to see
the results from the huge amount of research they have supported into fuel cell technologies

Task 2. Directions: You are going to give a presentation on the following debating issue: «What
would it take to reduce Ukrainian dependence on foreign oil? In this simulation, you are elected
President of Ukraine on a platform of reducing Ukrainian dependence on oil imports. How will

you achieve your goals?”
You should write at least 50 words in 10 minutes.

Task 3. Essay Writing: for & against



Directions: Rewrite these sentences adding any words that are necessary and changing the

words given where needed. The first one has been done for you.

a. AGAINST: critics/boarding schools/argue/pay/better education/wrong
Critics of boarding school argue that paying for better education is wrong.

b. FOR: main argument/favour/boarding schools/parents/able/choose where/children/educated

c. AGAINST: send/child/away to school/obviously cuts off/links/local community

d. AGAINST: it clear/boarding schools/part/English class system

e. AGAINST: on one hand/pay education/divide society

f. FOR: on other hand/boarding schools offer good teaching/small classes/those with money

g. FOR: abolish private education/restriction/individual liberty

PART Il USE OF LANGUAGE

Task 1. Read the article below about problems with current technologies. Choose the best word
to fill each gap from A, B, C or D. For each question 1-10, mark one letter (A, B, C or D). There

is an example at the beginning, (O).

Problems with Current Technologies
There are many disadvantages associated with (0) ...C... internal combustion engines, not least
economic issues. The price of oil is extremely volatile and the last 12 months have seen the cost per
barrel rocket. In today's political climate the trend looks likely to continue upwards. Furthermore,

@. ...... gasoline releases carbon dioxide (CO2), carbon monoxide (CO), sulfur dioxide (SO>),


http://environmentalchemistry.com/yogi/chemicals/cn/Carbon%A0dioxide.html
http://environmentalchemistry.com/yogi/chemicals/cn/Carbon%A0monoxide.html
http://environmentalchemistry.com/yogi/chemicals/cn/Sulfur%A0dioxide.html

nitrogen oxides (NOx), and hydrocarbons, amongst other gases, and (2). ...... matter into the
atmosphere, which cause (3) ...... environmental damage. But it is not just the environmental effects
of (4) ...... emissions - public health is also being compromised. For example, nitrogen oxides can
react with volatile organic compounds in the atmosphere to form smog, which is known to increase
respiratory problems in humans and carbon dioxide is a "(5)...... gas" that contributes to global

warming.

Electronic devices such as laptops, cell phones, mp3 players, etc. are powered by lithium batteries,
but these also have (6) ...... problems. Lithium ion batteries operate using salts of lithium to provide
conductivity, they can then be recharged by (7) ...... an electric current in the opposite direction.
The system returns to its charged state. However, because recharging does not completely return
the cell toits (8) ...... charged state, the battery deteriorates with time, i.e. lithium ion batteries have

a limited lifespan.

The (9) ...... cost of oil, a more environmentally-conscious public, and fears that oil supplies will
dry up within 50 years are forcing change. Fuel cell technology is seen as a (10) ...... alternative.

0. | Agoing B coming C running D walking

1. | Aburning B firing C rushing D flaming

2. | A partial B particular C partitioning D particulate

3. | A serious B severe C strong D strange

4. | Awful B harmful C hasty D harmless

5. | A blue house B roadhouse C greenhouse D penthouse

6. | A adherent B inherent C adhesive D adjoining

7. | Alintruding B creating C producing D introducing

8. | A previous B obvious C apparent D tedious

9. | Adecreasing B raising C rising D falling

10. | A vatic B viable C viatical D vicinal

Task 2. For questions 11-20, complete the following article by writing each missing word in the

correct box on your answer sheet. Use only one word for each space.
There is an example at the beginning, (0).

(0)...In... amere 100 years, the Western world has, with much skill but little foresight, managed to
create a society built almost entirely (11) ...... a finite source of cheap, dirty energy. We are


http://environmentalchemistry.com/yogi/chemicals/cn/Nitrogen%A0dioxide.html

consuming the equivalent of millions of years' worth of solar energy captured (12) ...... ancient
microorganisms and plants, and locked up in vast oil, gas and coal reserves (13) ...... rates so high
that we will probably have no economically recoverable deposits of oil and gas left by 2050. This
situation is compounded by our dependence (14) ...... foreign oil and an increasing number of
environmental concerns. Inevitably, we must solve our energy problems (15) ...... ways that are

both profitable and environmentally aware.

It is clear that we must use a multi-pronged approach, including innovation (16) ...... technology
and fundamental changes in our daily actions. (17) ...... changing how and what we grow as food,
how we transport ourselves, package our goods or build our homes, we will not become sustainable.
The world has, (18) ...... all, become quite flat, and so our solutions must by implication involve
all levels of industry, society and government. The human race must evolve (19) ...... the socio-
political and moral landscape: indeed, we must undergo a global transformation. In this series of
articles, I will explore the state (20) ...... current energy technology innovation and how they will

come to shape our future world.

Task 3. Complete the sentences 21-30 with the correct form of the verbs in brackets.
There is an example at the beginning, (O).

Nanotech-cleantech: bridging the gap to real sustainability
What is nanotech and how did we (0) ...get...(to get) here? Our ancestors, hundreds of years ago,
(1) ...... (to_pave) the way for our current fascination with the minuscule. Their exploratory
adventures of the past - the building of telescopes, the uncovering of basic anatomical details — (22)

...... (to provide) a foundation for the current sophistication of space probes and genetic medicine.

Our awareness of the invisible world emerged, indeed (23) ...... (to fuel), by our technological
prowess, our scientific derring-do on the microscopic and molecular scale. We (24) ...... (to build)

microscopes capable of imaging the tiniest cellular, molecular, and even atomic structures, such as
atomic force, scanning electron, and X-ray photoelectron. We (25) ...... (to be) now capable of
viewing and manipulating matter at the nanoscale, actually creating products with new

functionalities at the macro-scale (e.g. Stark, 2007). Ironically, this new nanotechnology, literally



the smallest scale science (i.e. a billionth of a meter), (26) ...... (to have) the potential to help solve
some of the world's biggest environmental and energy challenges.

Investment in nanotechnology (27) ...... (to project) to exceed more than USD20 billion in the next
2 decades, with current investment in the sector totaling close to USD8 billion worldwide.
Nanotechnology (28) ...... (to_evolve) from first generation passive nanostructures found in
coatings, nanoparticles polymers and ceramics (~2000) to the current second generation of so-called
active nanostructures found in products such as 3D transistors, amplifiers and targeted drugs. In the
near future (~2010-2020), we will see the advent of nanostructure systems that (29) ...... (to
incorporate) externally guided assembly (i.e. bio-assembly) and molecular nanosystems that (30)
...... (to mimic) simple biological systems.

GET

Task 4. Fill in the gaps in Sentences 31-40 with the correct form of the words in brackets.

The first one has been done for you.

31. The ___ destroying___ of the ozone layer is one of the worst things that have
happened. (DESTROY)

32. If we don’t send food, there will be on a massive scale.
(STARVE)

33. We need to find a to the problem before things get seriously out of hand.
(SOLVE)

34. There was a of 100,000 in the centre of London today
(DEMONSTRATE)

35. It is shocking that ten per cent of the population live below the line.
(POOR)

36. Some of the most beautiful Indian tigers are facing
(EXTINCT)

37. If the gets any worse, I’m going to move to the country.
(POLLUTE)

38. | believe the of the planet is worth fighting for.
(SURVIVE)

39. A steep rise in the price of oil could be for large numbers of businesses
(DEVASTATE)

40. Discharges of waste have never been so high. (CHEMISTRY)




Task 5. For questions 41-50, read the text below and decide which lines of the text contain

incorrect words. Write the incorrect word in the box. Indicate the correct lines with a tick (v)

There is an example at the beginning (0).

Example: 0 \Y/

00 bonding

Write your answers on the separate answer sheet.

Trio wins Nobel for key chemical tool
[0] An American and two Japanese scientists won the Nobel Prize in chemistry on Wednesday for
[00] finding new ways to bonding carbon atoms together. Their methods now are widely used to
[41] make medicines and in agriculture and electronics. The techniques develop by the three
[42] scientists have been using to artificially produce cancer-killing substances first found in marine
[43] sponges. The approach developed by the winners has been widely used in research labs and in
[44] commercial production of substances like plastics. By use the metal palladium as a catalyst to
[45] make carbon atoms bond to each other, the approach makes those bonds happen "very easily,
[46] very cleanly”. It requires fewer steps than previous methods and avoids having to clean up
[47] unwanting byproducts. The prize committees ignore the provision in Alfred Nobel's will that
[48] the awards honor discoveries made the preceding year because it takes time to measure the
[49] benefits .It's not uncommon for the prizes to reward research make decades ago, especially if

[50] its applications have increasing with time.
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